
DATA: F
3He
2 from Hall C data

F
3He
2 (no res):

F
3He
2 = FD2dis

2 (Bodek)× EMCKP

F
3He
2 (w/ res):

F
3He
2 = FD2

2 (Bodek)× EMCKP

x W 2 Q2

0.450 3.2645 1.9506

0.475 3.0828 1.9927

0.5 2.9124 2.9124

0.525 2.7524 2.0320

0.550 2.6017 2.1039

0.575 2.4597 2.1367

0.600 2.3255 2.1678

0.625 2.1986 2.1971

0.650 2.0784 2.2249

0.675 1.9643 2.2513

0.700 1.8559 2.2763

0.725 1.7528 2.3002

0.775 1.5610 2.3445

0.825 1.3863 2.3849

0.875 1.2263 2.4219
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Conclusion: should keep resonance in all nuclei
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